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101 | A [HEH PERES [¥31sc 11.70 1 13.25 1 11.60 1
102 | A |BAR 3 ¥'31SC Fhry i Fro
103 | B |3 L &K= E—ARH =Y 5.90 2 Xy 10.95 2
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301 [ A (g5 AR 1KF] SRC 3 | 1055 10 11.05 13
302 | B[R MK SRC 3 | 1055 [ 10 12.00 3
303 | A |TRfE IhE SRC 3 | 11.25 3 11.40 8
304 | B [HHA FH SRC 3 12.55 1 10.40 2
305 | B |HAE #ik SRC 2 11.00 7 11.50 6
306 | B | AL JEZE SRC 2 | 11.20 4 9.85 4
307 | B | H WA SRC 2 8.85 4 11.60 4
308 | A [FHEH R SRC 2 | 11.60 1 10.10 3
309 | A |CKH &= SRC 2 10.30 2 11.65 1
310 | B |[UEp K= SRC 1 10.85 15 8.85 3
311 | B [KE #EHER |SRC 1 | 9.30 14 1100 | 14
312 | A [ ZFE3) SRC 1 11.35 9 9.00 9
313 | A [fERE B SRC 1 9.95 13 1130 | 10
314 | A )l FIR SRC 1 1215 2 9.65 5
315 | A [JAIAR i ¥"341SC 2 Firy *ir
316 | B |H I FH— %'3{SC 2 | 1145 2 11.50 6
317 | B | = i ¥'31SC 2 10.15 12 11.60 4
318 | B |jiR[A 41 ¥'31SC 2 | 1085 9 11.15 11
319 | B [{fE4 K ERE |V3a{sC 1 11.00 7 9.20 6
320 | B |RIF i ¥'3{SC 1 11.20 4 9.55 3
321 | B |2 i ¥'3{SC 1 11.15 11 9.10 7
322 | B |f&f HiE KS{F#EC 2 11.20 4 11.10 1
323 | B | Kl AN KSfkic 1 EX> Xy
324 | B |FBEW 5ESF |KStRigC 1 9.05 1
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501 | B [{HE ZEA SRC 6
502 | B |[{H =& SRC 6 10.90 1
503 | B |[{@ Z=% SRC 6 10.60 2
504 | B |J&A EE SRC 6 1020 | 4
505 | B |BJI| ¥# SRC 5
506 | A [HE BN SRC 5
507 | B [fEHH JEHER SRC 5
508 | B Bk HEih SRC 5
500 | B |#% Mt SRC 4
510 [ A (B #h SRC 4
511 | B |0 &S SRC 4
512 | B [FEAR T+ SRC 4
513 | B | kA7 #a+PH [SRC 3
514 | A |FEH K4 SRC 3 | 11.40 9.45 2
515 | A |EE {FEE SRC 3 9.85 B
516 | A | T ERX SRC 2
517 | A |1 #&E{— SRC 2
518 | A |HK ZEE SRC 1
519 | A [{EjE ME SRC 1
520 | A [HALL #AC. IMYsc 6
521 | B |Z AR iM1SC 6 8.65 4
522 | A [IUA FEE IMYSC 6 9.00 3
523 | A | Il ERE :b'SC 5 9.30 7
524 | A |ERE M ¥'3{SC 6 Fro
525 | B |HHiJ BB ¥'3{SC 5 10.15 9.55 6
526 | B |F&E fiic ¥'31SC 5 | 9.0 10.25 3
527 | A |'BE HhE ¥'31SC 5 | 10.60
528 | B |7FpE it ¥'3{SC 5 | ¥4 ¥y
529 | B |JIIJ& f8t KS{kiC 6 | 11.25 9.60 1
530 | B |:m=H 1% KS{AigEC 6 10.50
531 | B |/[\HE EEA KS{A#RC 4
532 | B [KiE & A KS{AIZC 4
533 | B |Ei% FEo% KSf&iZC 2
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501 | B [fHE A SRC 6 e Xy
502 | B |[{H EF SRC 6 11.30 2
503 | B |[{@ &= SRC 6 11.60 1
504 | B &R & SRC 6 1130 | 2
505 | B |H)I| {8 SRC 5 11.00 7 8.80 11
506 [ A |#R EBA SRC 5 10.40 17 8.50 12
507 | B |fEH JEED SRC 5 10.90 11 9.50 2
508 | B |fRBE EE1h SRC 5 11.00 7 9.10 7
509 | B |# mHkdig SRC 4 10.85 13 9.15 5
510 | A [BF SRC 4 10.80 | 15 9.10 7
511 | B |0 & SRC 4 10.90 11 8.90 10
512 | B |4 -+ SRC 4 10.70 16 9.35 4
520 | A [#EIL HRC YRS 6 1120 | 5 9.00 9
521 | B |2 H :MYSC 6 915 5
522 | A IR B5L :YSC 6 11.00 7
523 | A |1 ==#t :}1)SC 5 9.60 1
524 | A |fRS B $'34SC 6 e
525 | B (M0 EX ¥'31SC 5
526 | B |2 fifiC ¥'3{SC 5
527 | A |'B78 HhE ¥'31SC 5 10.85 13
528 | B |7BjE JoHh ¥'3{SC 5
529 | B |[JI|JEL #dt KS{AigC 6
530 | B [:2H & KS{KiRC 6 11.00 7
531 | B /IR BRI KS{AIRC 4 1125 | 4 9.50 2
532 | B [ KiE M&A KStAgC 4 11.15 6
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513 | B | K/ Ba+ER |SRC 3 10.75 6 7.85 6
514 | A [FEH K# SRC 3
515 | A |BE {(HEE SRC 3 10.95 3
516 [ A | T ER X SRC 2 11.05 2 9.05 4
517 | A [HR)I] 5 SRC 2 11.30 1 9.75 1
518 | A |hAT 2BHE SRC 1 10.60 7 8.65 5
519 | A [fERE HHE SRC 1 10.85 5 9.20 2
533 | B |={E &% KSIAIEC 2 1090 | 4 9.20 2
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